TUREF-RIRER-RIPHBEORERR

(B uSv./h)

— = # E 50cm
No| MER kA e T MELT T 5 i
1] FRETHHEE 0.06 - 0.06 -
| 2] AU OHHE 0.06 - 0.06 -
| 3 AHREEEIILY 0.05 - - -
4 1B10m SEEERER 0.06 - 0.06 -
| 9] EEREM 0.05 0.05 0.05 -
| 6] B KBRER 0.06 0.05 0.05 -
7 E IKEARB AT 0.05 0.04 0.05 -
8 X |[OFELYREE 0.05 - 0.05 -
9 BEREM 0.06 0.05 0.05 -
10 FEFHHHE 0.06 - 0.05 -
1) 1A11E BRAYHE - - - -
| 12 HRNEREM 0.04 0.05 - -
13 EOEHE 0.07 - 0.06 -
| 14] a  [RENEFRT 0.05 - 0.05 -
% (\B16E f:(lg: p_t?ﬂhf’: s 2l 0.05 0.06 0.05 -
| 16] = |- ZRE A 0.05 0.06 - 0.06
17 KIREFT 0.06 0.06 0.05 -
| 18, AIREM 0.06 0.06 0.06 -
| 19 q  |BREEMR 0.05 0.05 0.05 0.06
20 B |dEFEERR 0.06 0.05 0.05 -
ol PR 8 Lsmen 0.05 0.05 - 0.05
| 21] = . .
| 22 MFERER 0.06 0.06 0.05 0.05
23 BEXRE 0.05 0.05 0.06 0.06
24 Riem | ke BAEFTEERER 0.06 0.06 - -
2 ML HEE 0.06 - 0.06 0.06
| 26 T |[wErREmR 0.06 0.06 0.05 0.05
| 27| 1A9H ﬁ TERER 0.06 0.06 0.06 0.06
28 X [HIREFR 0.06 0.05 0.06 0.07
29| 1H48 | B |HEMREER 0.07 - - -
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